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Find each product.
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Solve each equation by factoring.
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Solve each equation by factoring. \/

W =Y

T T K\ ?ﬁ)&




B X |

l]lmi eAlgebra 2 W Lol B e

D[DIDI@P‘QI i © ~ 71— [CNHEHAH

Identify the vertex, axis of symmetry, horizontal shift, vertical shift, x
intercepts, max/min, and direction of opemlmg of each. Then sketch the
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Identify the vertex, axis of symmetry, horizontal shift, vertical shift, x
intercepts, max/min, and direction of openning of each. Then sketch the

L, vede (3,50
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Use the information provided to write the vertex form equation of each
parabola. Make sure to state the 'a’ value as well. Hint- use the step pattem to
determine how many units the parabola goes up or down.

Y = &(X-bﬁa <
vectex (=3 -3)
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